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10 K=.8478:TIB=
20 INPUT

"AGE=

-3.00839:TIA=34.0948:TIC=-2.3059:TID=26.1334:TII=.01
",AGE: INPUT
30 HN=TIB*TII+TIA-(TIC«TII+TID)#*K"(AGE/5-2)
40 IF H>HN THEN GOTO 70
50 IF TII=6 THEN GOTO 70

'I;H

80 TII=TII+.01 :GOTO 30
70 PRINT "TII= ";TII;"AGE= ";AGE;" K= ";H;"HN= ";HN:END
-1 HEHEELET0I54 (BASIC)

50 #X1:

10 N=10000:INPUT
20 GOSUB #X1:IF ABS(DK-D)<.! THEN GOTO 80
30 1IF DK>D THEN N=N+10
40 IF DK<KD THEN N=N-10
VK=((.0822494#H"-1.37292)+(3681.6#H"-2.86783)/N)" -

60 HF=.808545+.402345#H+.140882+(SQR(N)*H)/100 :GK=VK/HF

70 DK=-.000378+.981298%200% (SQR(GK/(3.1415892N)))-.028497+SQR(N)*H/100:RETURN
80 HH=LOG(H):HH=HH/LOG(10):NRF=5.39131-1.49491«HH:NRF=10"NRF

80 VRF=((.0822494#H"-1,37292)+(3681.64H"-2.88783)/NRF)"-1:RY=VK/VRF

!|H:

" H:INPUT

:GOTO 20
:GOTO 20

"d=

i .

100 PRINT "N= ";N:"RY= ":RY:END
H-2 NEHHEETasS54 (BASIC)
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